Solutions to Logarithm Problem Set

1. Convert the exponential equation to a logarithmic equation, or vice versa:
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2. Find the value of:
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3. Solve for z:

(@) e* =9
(b) e* =
(€) 22 =0

) \n(e&v = \‘\(0\3

B) & Wil awogs g

1

|
|

|

% ?OS\lc\\Je, re_so“‘ So

No sAshon
— e

\A\
NK)

l

e \Wese "’f—\":\“m\ l 9%

| JANNASY =\‘D

Methed Q ]
So
| & Loy () =2 |
(d) 2= = % (g) elz+3 — 9
(e) log,(4)=9 (h) 2e3=+5 — 7
(ﬂ 3I~5 = 4% (l) 361‘1 — 262.::

[ W) = ()

L\\/\-\B = \('\kp-\

q
oo y = X | WENS
y Y e
(5) = (™) ! -
. a \ \'\\ 9\ 3% xS _
)L = L\ 'a oc \ﬁ‘) © 7
6’31-\-5 :35
(
£ Wren e  Yoses ocen b 18 S
) - ol &%) < (3D

) 2 L) dwour G

[\N '\303"\'\‘;_\12 (-<_§0\\’4 So

l

no gc\\?ﬂ\o(\ .

Moy (9= loa, ()
NeoRs = loay, ()

celokon Sece

g:=9

|
I

o<

L= -\og 3_(0\3

| commnony oy a( ) Yo

ecch S\Qe

) Sl |
e opedty K logertans ( \ ! 3 (\“ﬁ!
= x\o W . v\ = > e
\ L)(_S)‘B\LEB I O\l ) _\(\(QQ'Q } 'Qégk‘k\“‘“\

>(\<n ) - %\r\(’$\ = \/\\(\(U\\\ |
\a (D) = Na@) = %\n('g
L (el - Wl = S\ ()]

SAING ’b\
YD) - \n ()

INEN) *@ =\ *\f\(—éi)jB

Va2 x (xad\ae) = \ala) « Q%
=1

|
|

Wol2) « Xxl = (Al ~ 2

= Qx - %

\ﬂ(%ﬁ 5\_\ —\(\(D—) .

P S AL
s B

« = w(F) F

\rvecse PeEes



4. Suppose the graph of y = «* has the following properties:

* Passes through the point (2, 3)

* On the left-hand side of the graph (when z-is a large negative number), the y-values are
small positive numbers

(a) Sketch the graph of log,(z).

[b) What is the value of a? 2
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5. If a® = 3, find the value of the following. (In some cases your answer will involve a).
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6. Factor ¢'* - 4%* as a difference of squares.
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